Exam. Code: 0310
Sub. Code: 2681
2071
M.A. (Economics) Fourth Semester
MAECO0-403 & 404 [Opt. (iii)}: Research Methods
(In all mediums)

Time allowed: 3 Hours Max. Marks: 80

NOTE: Attempt five questions in all, including Question No. I which is compulsory

II.

II.

Iv.

VI
VIL

VIII.

IX.

and selecting one question from each Unit. Use of non-scientific non-programmable
simple calculator is allowed.

X-X-X

Attempt any ten of the following:-

a) What do you mean by research?

b) What do you mean by a citation?

c) Differentiate the terms 'references' and 'bibliography".

d) Write the citation for General Theory of Employment Interest and Money in APA
format. _ ‘

e) Why pre-testing of questionnaire is prerequisite for a well-structured research
design? _ v

f) Define Interviewer's bias.

g) Discuss the observation method in brief.

h) What do you mean by preference scale?

i) Do you think sampling is enough for deriving inference about population
parameters? ,

J)  What do you mean by PPS?

k) Differentiate terms non-parametric and parametric test statistics.

1) Discuss any one application of Kilmogrov Smimov test.

m) How sign test is different from other non-parametric tests statistics?

n) Discuss any one use of F-statistics. ' _

0) What do you mean by Stratum? ~ (10x2)

UNIT -1
Discuss at least four methods of citation. Use one hypothetical citation from each of the
following categories e.g., Journal, Book, Working Paper, Online Source to support your
answer. (15)

What do you mean by research design? Discuss the types of research design.

(5+10)
UNIT - II
Discuss the rules for conducting interviews so as to collect data through interview
method. . (15)
Discuss various types of Questionnaire. (15)
UNIT - III
Discuss various types of preference scales. (15)
Discuss. various test of the reliability of Data and construct of an index. (15)
UNIT -1V
Discuss the applications of:-
a) Kruskal-Wallis test
b) Z-test (5+10)

a) A sample of 8 observations from normal population distribution gives a
standard deviation of 10. A second sample of 10 observations from another
normal population gives a standard deviation of 5. Is hypothesis of equal
variance tenable?

b) Discuss Sign test and its applications. (7+8)

X-X-X
(Hindi and Punjabi versions enclosed)
P.T.O.
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